Magic Chef W20JAS5 01 - BASE & DRIVE (W20JAS5)(REV. A-D)

Magic Chef Residential Magic Chef W20JA5 Washer Parts Parts Diagram 01 - BASE & DRIVE (W20JA5)(REV. A-D)

12
13
14

35-0235
35-2030
LA-2002
33-9945
25-7418
25-7833
25-7834
33-9946
33-9944
25-3083
33-9947

35-2021
35-2810
33-9941
25-7831
35-2124

Section: BASE & DRIVE
W20JA-5

MopEL:

Issue

Date: 8/90

Click on the part number to view part

Not Available
Not Available

33001178
21001977

Not Available
21001783
21001783
35-3646

W10143344

Spring, Motor Pivot
MOTOR

MOTOR KIT

Slide, Foot

Back, Tumbler

Screw

Washer, Motor/Base Screw
Isolator, Motor

Washer, Motor Pivot
Screw, No.6-32 X 1/4 Inch
DBL.PIVOT SLIDE

Plate And Screw Assembly
Plate And Screw Assembly
Isolator, Motor Plate
Spacer, Mounting

Pulley


http://www.pwslaundry.com/c-512236-residential-magic-chef-w20ja5-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10429265-magic-chef-35-0235-washer-spring-motor-pivot.html
http://www.pwslaundry.com/i-10429273-magic-chef-33-9945-washer-slide-foot.html
http://www.pwslaundry.com/i-10433755-magic-chef-33001178-washer-back-tumbler.html
http://www.pwslaundry.com/i-10430188-magic-chef-21001977-washer-screw.html
http://www.pwslaundry.com/i-10432390-magic-chef-25-7834-washer-washer-motor-base-screw.html
http://www.pwslaundry.com/i-10429278-magic-chef-33-9946-washer-isolator-motor.html
http://www.pwslaundry.com/i-10429805-magic-chef-35-3570-washer-washer-motor-pivot.html
http://www.pwslaundry.com/i-10429792-magic-chef-212951-washer-dryer-screw-no-6-32-x-1-4-inch.html
http://www.pwslaundry.com/i-10429967-magic-chef-21001783-washer-plate-and-screw-assembly.html
http://www.pwslaundry.com/i-10429967-magic-chef-21001783-washer-plate-and-screw-assembly.html
http://www.pwslaundry.com/i-10429809-magic-chef-35-3646-washer-isolator-motor-plate.html
http://www.pwslaundry.com/i-10432399-magic-chef-25-7831-washer-spacer-mounting.html
http://www.pwslaundry.com/i-10433177-magic-chef-w10143344-washer-pulley.html

26
27
28
29
30
31
32
33
34
35
36
37

38
39
40
41
42
43
44
45

46
47
48

49
50
51

52
53
54
55
56

25-71117
33-9943
33-9967
25-7047
25-7325
35-2015
35-2531
25-7930
35-2092
35-2681
35-2682

W10124350

W10124350

LA-2005
25-7365
LA-2004
35-2017
25-7895
35-2112
35-2113
35-2018
25-7359
35-2016
25-7909
35-2318
35-2078
35-2081

35-2683
35-2119
35-2441

35-2439
36-2082
25-7854
35-2049
35-2046
36-2052
35-2050
35-2039
35-2007
25-7828
35-2019
35-2815
25-7838
25-7915
35-0837
35-0772
35-2357
35-2320
25-0226
25-7830
25-7413

35-3571

Y707702
Not Available
Not Available

21001858
Not Available
Not Available
Not Available
Not Available

12002012

21001858

21001910

35-6714

35-6918
Not Available
Not Available

12002213

35-3456

12002213

12002213

12002213

12002213

21001881

22004469
Not Available

489483
Not Available
Not Available

25-7845

25001119

25001119

21002026

21352320
Not Available
Not Available

Set Screw

Slide, Motor Pivot
Washer, Motor Isolator
Washer, Flat

Locknut

SUSPENSION HOUSING
BRACE, TUB

Screw 5/16-18 x 1/2
SUSPENSION SPRING
SPRING, SUSPENSION
Hook Suspension Spring

NOT REQUIRED PART OR
SEE NOTE

NOT REQUIRED PART OR
SEE NOTE

Clutch Assembly Kit
Eye Bolt

Brake/Bearing Tool
Retainer, Brake Spring
Screw 5/16-18 x 1/2
Spring, Brake

Brake Roto

Stator, Brake

Screw
SPACER-BEARING
Washer

WASHER

Thrust Bearing Kit
Washer

Thrust Bearing Kit
Thrust Bearing Kit
Thrust Bearing Kit
Thrust Bearing Kit
Washer, 1.250DX.5301DX.062
Ring, Retaining

Bar, Stabilizer

Bracket, Stabilizer

Pin, Stabilizer

Leg And Foot Self Stabalizing
PAD, FOOT

Cap, Dust

Screw 10-32 X 1/2
BASE, WASHER
BASE, WASHER
Speednut, Motor

Hex Nut

Foot And Pad Assembly
Foot And Pad Assembly
Snubber

Belt, Drive

HEX NUT

Spacer

FLAT WASHER


http://www.pwslaundry.com/i-10429285-magic-chef-25-7117-washer-set-screw.html
http://www.pwslaundry.com/i-10429817-magic-chef-35-3571-washer-slide-motor-pivot.html
http://www.pwslaundry.com/i-10429298-magic-chef-33-9967-washer-washer-motor-isolator.html
http://www.pwslaundry.com/i-10429311-magic-chef-25-7047-washer-washer-flat.html
http://www.pwslaundry.com/i-10433841-magic-chef-y707702-washer-locknut.html
http://www.pwslaundry.com/i-10430016-magic-chef-21001858-washer-screw-5-16-18-x-1-2.html
http://www.pwslaundry.com/i-10429329-magic-chef-35-2682-washer-hook-suspension-spring.html
http://www.pwslaundry.com/i-10429562-magic-chef-la-2005-washer-clutch-assembly-kit.html
http://www.pwslaundry.com/i-10429341-magic-chef-25-7365-washer-eye-bolt.html
http://www.pwslaundry.com/i-10431310-magic-chef-12002012-washer-brake-bearing-tool.html
http://www.pwslaundry.com/i-10429345-magic-chef-35-2017-washer-retainer-brake-spring.html
http://www.pwslaundry.com/i-10430016-magic-chef-21001858-washer-screw-5-16-18-x-1-2.html
http://www.pwslaundry.com/i-10430020-magic-chef-21001910-washer-spring-brake.html
http://www.pwslaundry.com/i-10433116-magic-chef-35-6714-washer-brake-roto.html
http://www.pwslaundry.com/i-10430024-magic-chef-35-6918-washer-stator-brake.html
http://www.pwslaundry.com/i-10429349-magic-chef-25-7359-washer-screw.html
http://www.pwslaundry.com/i-10429353-magic-chef-25-7909-washer-washer.html
http://www.pwslaundry.com/i-10430028-magic-chef-12002213-washer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-10433441-magic-chef-35-3456-washer-washer.html
http://www.pwslaundry.com/i-10430028-magic-chef-12002213-washer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-10430028-magic-chef-12002213-washer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-10430028-magic-chef-12002213-washer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-10430028-magic-chef-12002213-washer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-10429361-magic-chef-35-2082-washer-washer-1-25odx-530idx-062.html
http://www.pwslaundry.com/i-10429365-magic-chef-25-7854-washer-dryer-ring-retaining.html
http://www.pwslaundry.com/i-10431307-magic-chef-21001881-washer-bar-stabilizer.html
http://www.pwslaundry.com/i-10429369-magic-chef-35-2046-washer-bracket-stabilizer.html
http://www.pwslaundry.com/i-10429373-magic-chef-35-2052-washer-pin-stabilizer.html
http://www.pwslaundry.com/i-10431244-magic-chef-22004469-washer-leg-and-foot-self-stabalizing.html
http://www.pwslaundry.com/i-10429377-magic-chef-35-2007-washer-cap-dust.html
http://www.pwslaundry.com/i-10433992-magic-chef-489483-washer-dryer-screw-10-32-x-1-2.html
http://www.pwslaundry.com/i-10432404-magic-chef-25-7845-washer-speednut-motor.html
http://www.pwslaundry.com/i-10429381-magic-chef-25-7915-washer-hex-nut.html
http://www.pwslaundry.com/i-10430158-magic-chef-25001119-washer-foot-and-pad-assembly.html
http://www.pwslaundry.com/i-10430158-magic-chef-25001119-washer-foot-and-pad-assembly.html
http://www.pwslaundry.com/i-10429979-magic-chef-21002026-washer-snubber.html
http://www.pwslaundry.com/i-10429971-magic-chef-21352320-washer-belt-drive.html
http://www.pwslaundry.com/i-10429393-magic-chef-25-7830-washer-spacer.html

57

58

59

60

33-9765
35-2065

W10124350

W10124350

W10124350

Not Available

Not Available

Not Available

Switch, Motor
Pad, Motor Plate

NOT REQUIRED PART OR
SEE NOTE

NOT REQUIRED PART OR
SEE NOTE

NOT REQUIRED PART OR
SEE NOTE


http://www.pwslaundry.com/i-10429397-magic-chef-33-9765-washer-switch-motor.html
http://www.pwslaundry.com/i-10429409-magic-chef-35-2065-washer-pad-motor-plate.html

	Magic Chef W20JA5 01 - BASE & DRIVE (W20JA5)(REV. A-D)

